(REEBE ~U—_VI#HsE—&8X)

& = He
SYZYINY-y  |T652 2
(AR=YP—1) T655 1

78 Te55L 4
IPONAD 900U 3
68 900U-eX 3

/—=F 2 ANITORO

DLYITTUR

Qv IPINDIYIY / PIDOYIY

QULvIIDORFTYY3IY

@DY—FTy RULYITA=IU

GaO-—7—/N1\wv2

®PTRIFIU

ON=FHILFT R

Bl #E 1

& = B2
U2J2UDERE5— (1.2mX1.8m) 2
AR=YH AV — 1
DAL SIA B 1
TAI DTN (BETIT) 1
ALY FVy 10
DO0—LXyFFTIUN)L (1~10Kg) 20
SFIUNII—R1Kg 12
SFIUNIVI—R2Kg 12
2w bdA=FT+4UT 4 —RVUF (Ghd) 3
NYF (88 2
AZANYY 1

@F—/IN\—Ay RTUR

SN=TU—-R (RERVIVA) 51200Ke

QN1 TR AN—IL

OrSIETRIDORTYY3IY

DSy +ITNITDY

F=J)1La0->—

AD=IVA VY FARYF

VAR RRYY

NIVENATU =5 —

20Ke 4
1 5Keg 2
10Ksg 4

5Keg 6
2.5Kg 6
1.25Keg 4




